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Functions Represented in Different Ways

Exit Ticket

Two people, each in a different apartment building, have buzzers that don't work. They both must throw their
apartment keys out of the window to their guests, who will then use the keys to enter.

Tenant 1 throws the keys such that the height-time relationship can be modeled by the graph below. On the graph, time
is measured in seconds, and height is measured in feet.

Tenant 2 throws the keys such that the relationship between the height of the keys (in feet) and the time that has
passed (in seconds) can be modeled by h(t) = —16t? + 18t + 9.

2. Whose window is higher? Explain how you know.




